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Exercice 1

Compléter sans calculatrice :

◮1. 0,1 × 1,84 = . . . . . . . . . . . . . . . . . . . . . . .

◮2. 0,511 ÷ 100 = . . . . . . . . . . . . . . . . . . . . .

◮3. 0,142 ÷ . . . . . . . . . . . . . . = 0,000 014 2

◮4. 10 × 0,393 = . . . . . . . . . . . . . . . . . . . . . .

◮5. 0,01 × 0,723 = . . . . . . . . . . . . . . . . . . . .

◮6. . . . . . . . . . . . . . . . . . . . . . . . × 4,77 = 477

◮7. 10 000 × 70,3 = . . . . . . . . . . . . . . . . . . .

◮8. 4,72 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .

◮9. 1 000 × 0,306 = . . . . . . . . . . . . . . . . . . .

◮10. 0,001 × 3,78 = . . . . . . . . . . . . . . . . . . . .

◮11. 0,000 1 × 0,145 = . . . . . . . . . . . . . . . . . .

◮12. 0,84 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . . .

Exercice 2

Compléter sans calculatrice :

◮1. 0,000 1 × 1,41 = . . . . . . . . . . . . . . . . . . .

◮2. 0,565 ÷ 100 = . . . . . . . . . . . . . . . . . . . . .

◮3. 38 ÷ 10 000 = . . . . . . . . . . . . . . . . . . . . .

◮4. 8,9 ÷ . . . . . . . . . . . . . . . . . . . . . . . = 0,89

◮5. . . . . . . . . . . . . . . . . . . . . × 4,07 = 40 700

◮6. 0,001 × 0,231 = . . . . . . . . . . . . . . . . . . .

◮7. 100 × 8 = . . . . . . . . . . . . . . . . . . . . . . . . .

◮8. 0,1 × 4,21 = . . . . . . . . . . . . . . . . . . . . . . .

◮9. 47,6 ÷ . . . . . . . . . . . . . . . . . . . = 0,047 6

◮10. . . . . . . . . . . . . . . . . . . . . . . . . . × 2,3 = 23

◮11. . . . . . . . . . . . . . . . . . × 0,738 = 0,007 38

◮12. 1 000 × 46,8 = . . . . . . . . . . . . . . . . . . . . .

Exercice 3

Compléter sans calculatrice :

◮1. 0,01 × 7,44 = . . . . . . . . . . . . . . . . . . . . . .

◮2. . . . . . . . . . . . . . . . . . . . × 24,1 = 0,024 1

◮3. 1 000 × . . . . . . . . . . . . . . . . . . . = 20 700

◮4. 0,1 × 58 = . . . . . . . . . . . . . . . . . . . . . . . .

◮5. 0,465 ÷ 100 = . . . . . . . . . . . . . . . . . . . . .

◮6. 100 × . . . . . . . . . . . . . . . . . . . . . . = 6 650

◮7. 0,000 1 × 0,592 = . . . . . . . . . . . . . . . . . .

◮8. 0,561 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . .

◮9. 48,7 ÷ . . . . . . . . . . . . . . . . . . = 0,004 87

◮10. 10 000 × 40,1 = . . . . . . . . . . . . . . . . . . .

◮11. 3,77 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .

◮12. 10 × 0,204 = . . . . . . . . . . . . . . . . . . . . . .

Exercice 4

Compléter sans calculatrice :

◮1. 48,9 ÷ 100 = . . . . . . . . . . . . . . . . . . . . . .

◮2. 0,000 1 × 8,76 = . . . . . . . . . . . . . . . . . . .

◮3. 63,5 ÷ 10 000 = . . . . . . . . . . . . . . . . . . .

◮4. . . . . . . . . . . . . . . . . . . . . × 0,202 = 2 020

◮5. . . . . . . . . . . . . . . . . . . . . ÷ 1 000 = 0,077

◮6. 100 × 42,2 = . . . . . . . . . . . . . . . . . . . . . .

◮7. 1 000 × 0,463 = . . . . . . . . . . . . . . . . . . .

◮8. 0,1 × . . . . . . . . . . . . . . . . . . . . = 0,071 5

◮9. . . . . . . . . . . . . . . . . . . . . . . . . × 70 = 0,07

◮10. . . . . . . . . . . . . . . . . . . . . . . . × 61,3 = 613

◮11. 0,01 × 9,36 = . . . . . . . . . . . . . . . . . . . . . .

◮12. . . . . . . . . . . . . . . . . . . . . . ÷ 10 = 0,054 8
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